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3/26/2014 horn current scan test current  voltage 20 spills each

~

current  voltage 20 spillsea
elog entry of begin scan 1 200 740 21 100 370
) Inform MCR 2 195 721.5 22 95 351.5
Mask BPS E40 THA chan 1 3 190 703 23 90 333
Mask BPS E40 THA chan 5 4 185 684.5 24 85 314.5
Inform Neutrino control rm. 5 180 666 25 80 296
X 4008 6 175 647.5 26 75 277.5
At end 7 170 629 27 70 259
UnMask BPS E40 THA chan 1 8 165 610.5 28 65 240.5
UnMask BPS E40 THA chan 5 9 160 592 29 60 222
Inform MCR done 10 155 573.5 30 55 203.5
Inform Neutrino control rm. Do pressure scan point 2 Do pressure scan point 4
elog entry of end scan 11 150 555 31 50 185
% i Tor :\Q@ /O =i 12 145] 5365 5 45| 1665
Do pressure mnmx point 1 13 140 518 33 40 148
. current  voltage 35 spills each 14 135 499.5 34 35 129.5
) E.?> 200 740 '3’ e T3 15 130 481 35 30 111
. ‘@% 175 647.5| 16 125 462.5 36 25 92.5
\. 150 555 17 120 444 37 20 74
125 462.5| = 18 115 425.5 38 15 55.5
100 /370 19 110 407 39 10 37
pressure2  [{fgo \ 1.s ﬂm_‘ a 20 105 388.5 40 5 18.5
current  voltage 35 spills each Do pressure scan point 3 41 0 0
'3 b\i\ 200 740 w _ Do pressure scan point 5
175 647.5 .
|\ 2 150 555] & % 22 psin \ \f\&‘Q\ADD m\ﬁ.\whﬁm\&\ 19/ S
|%20] 125 462.5| L pressure 4 pressure 5
(- N& 100 370 <& ﬂ current  voltage 35 spills each current  voltage 35 spills each
pressure 3 35spillseach  \: & | 200 740 |} L 200 740 2o
|23 200 740 (0 VT 175| 6475 |9 FA-Iv. 175| _ 647.5| = |
b B ir 175 6475 || 150 555| | K 150 555
R T 150 555{ |\ 2. 125 462.5 54 AN\ 125 462.5| 44 _
) 125] 4625 | 15 4 fa— 200 370] |4 ' so 100 370| 17
L5 100 370 Aﬂ. v
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